Physics Skills I: Mathematics Assessment '

Key

Solve for X in the following problems:

e,

Name :
3x _6g 6 g
Date: ___ Period; 17. '3," T L -3:“2:
Write the following numbers in scientific notation: 18. d =—)-:~ X < 0/ 7
1. 156.90 - 2
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19, ==—-=dg x = =F
2. 12000 |2 /0 v 3
: 24x e %
= -2 200 —= y s L‘
3. 0.0345 2. YSsA )0 g A (Z)ﬁ
4. 0.008 90 g 90 »s0 - 'Make the following conversions.
n 21,4008 g= mg
4005000 ms
Expand the following numbers 72. 48 mL = L o5
5. 1.23x10° _ LOYE
/2; 0000 23,239 mm = cm
6. 25x10° oo s 2 3. Tem |
’ 24:30kg = T | 35000000
- == : 20 £00,
7. 1.54x 10 |54 00 4
8. 5.67x107 67 Angwer the questions that vefer to the following
o _praphs )
A, 2 B.
=
Solve the following and put your answer in a )’ * }I =k X
scientific notation: b
6.6x107° -4
——— x "
3.3x10™ %o g
1, J4x10” > ;
" 3.7x10° 19
2.5%10° <
1, ——— ¥
7.5x10° . 3.33 %0 C D. s
12. (2.67 % 10°) - (9.5 % 107 ‘ . . P
_ 1. 7272467 > g e
13.(1.56 x 107 + (2.43 x 10™) . -7
1€ 03%/0
14.25x 10%x (3.0x 107 N
( )% ( N I
15.(1.2x 10%)x (1.2x 107) ( YA
(.YY~x/0
16. 2.3 x 109+ (2.0x 10° , e
| 25. Which graph represents an
inverse relationship? &
26. Which of the graphs could
| have the equation y=kw’ et
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SOLVING EQUATIONS
WORKSHEET

SOLVE EACH EXPRESSION FOR THE VARIABLE INDICATED.
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Dimensional Analysis Review

Convert the following using dimensional analysis:
1) 3,400,400 grams to Gigagrams
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f()j

{
2) 6,200 mnitokm”

~

l

3) 0.000056 liters to microliters

- / / /\/ /m',\
5) 98,000cm to Megameters
05000en) Jn )Ll o 0018,
6) 19.3 km/hr to mi/min,
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Solve pights Tl RST, wauig Ho guoen

intnodion . Show ol woerk on W book popent,
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13, From & point on the ground 12 ft 14. From an airplane at an altitude of |
from the base of a flagpole, the  © [200 m, the angle of depression of a]
angle of elevation of the top of the rock on the ground measures 28°, .
pole meusurgs 53°. How tall is ‘the Find the distance from the plane to

flagpole?(ie the rock {2600 m )
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